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1 xXx8=8
2 X 8=16
3 X8=24
4 X8 =32
5 X8 =40
6 X 8 =48
/X8 =256
8 X 8 = 64
O9Xx8=72

10 x 8 = 80

1xXx9=9

2 X9 =18
3 X9 =27
4 X9 =36
5 X9 =45
6 X9 =54
/X9 =63
8 X9 =72
9 x9 =281
10 X9 =90



1 x10=10
2 %X 10 =20
3x10 =30
4 x 10 =40
5x10 =50
6 X 10 =60
/xX10=70
8 X 10 =80
9x10=90

10 x 10 = 100

1 x11 =11

2 X11 =22
3 x11 =33
4 x11 =44
5% 11 =55
6 X11 =66
(X11 =77
8 X 11 = 88
9X%x11 =99
10 x 11 = 110
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3X4 =12
4x3 =12
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3(3 x 4) = 3(12) = 36
4 (3 x3)=4(09) = 36
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300 x 10 = ¢ 10 X 30 = 30
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50 x 40 = 2000
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560 x 10 =? 600 x 20 =7
9000 x 300 =7?



£, JOPILIE]

OOOOOO

fowl ool W

3955 5 (8 0993 (g i (0 9 (Y



£, JOPILIE]

OOOOOO

t b

falad JIS a6 Cunald 4l )l L JUia 50
62300 x 200 =? 30 x 30 =?
40 x 500 =7 900 x 60 =*



